11. FERVLETRER

e e AV AT
1. HEFEEOHR Hify A
X5y @ 5 Wt ok B oE N 3t
“@ # x w o | o i fiit
o Ji7 = (& M % & &) =S E e
Rk 19 #E 509 84 160 263 2
20 511 86 160 263 2
21 513 88 160 263 2
Rk T B (7 4R R )
b o
2. BEEFEOHR B
wo K A v | ® S m k]| W it o
I g T EE
Rk 19 &EE 319 48 0 265 6
20 319 48 0 265 6
21 319 48 0 265 6
Rl LT B (1 A4 R )
3. NE OB B - nd
@ ol | &% a2 @B | XK s Bl EHF XK A ®E|Fo0ms E
M| omo R | % | om OB | % | o wm | & | o ®m OB | % | m
42 985,318 1 91,460 1 43,360 30 77,854 2 621,892
(EFEDH-o%)
[N /N [EA SN HoOR 1A
M| o m oM | % | o ®m OB | 4y om M
5 81,936 3 68,816 31.39

EORE: TORRR, BREGR (G PRk22483 A 1 H BIAE)



4. EHHBR OB -

V:m, %

A g | S n e | E

£ Sk £ (A) 26,790 14,530 12,260 50,011 30,526 19,485 338,145 414,946

BRI R (B) 26,790 14,530 12,260 44,004 28,822 15,182 223,315 294,109

e

B2 9 I K ©) 26,790 14,530 12,260 50,011 30,526 19,485 325,869 402,670

A = e A

O (D) 0 0 0 0 0 0 4,333 4,333
Z: i1 JE QE E

W B (B) / (A)] 100.0 100.0  100.0 88.0 94.4 77.9 66.0 70.9
o2& o= (©)/A)| 100.0 100.0 100.0 100.0  100.0  100.0 96.4 97.0

A2 AN HE (D) / (A) 0.0 0.0 0.0 0.0 0.0 0.0 1.3 1.0

& %X 31.0 15.0 16.0 37.0 25.0 12.0 159 227
2 B 7 (B
it E 4,068 320 3,748 722 526 196 2,393 7,183

& 2% 0.0 0.0 0.0 0.0 0.0 0.0 2 2
T R 0 0 0 0 0 0 63 63
& %X 31.0 15.0 16.0 37.0 25.0 12.0 157 225

KA (F)
JEF | 4,068 320 3,748 722 526 196 2,330 7,120

& 2% 0.0 0.0 0.0 0.0 0.0 0.0 0 0

w® & &
T R 0 0 0 0 0 0 0 0
& 2K 0.0 0.0 0.0 0.0 0.0 0.0 0 0

fof O PR G
It R 0 0 0 0 0 0 0 0
& 2% 0.0 0.0 0.0 0.0 0.0 0.0 0 0

2@ K~ B E
T R 0 0 0 0 0 0 0 0
& %X 100 100 100 100 100 100 99 99

KAKEF (F)/(E)
It & 100 100 100 100 100 100 97 99

\ri
>
&
cm
5y
[l

B FSHT, FE VTR MR B A AR B AR AR, R (T SERk224E4 ] 1 R BAE)





